
31

RF 120	  500
	 1000
	 1500

Equipped with accessories 

Length	 500 / 1000 / 1500 mm
Packing	 unpacked on pallet
Colour M

HIGHRESISTANCEWITH
RESIN

M20 
STAINLESS STEEL

ROD FLOOR 120

RF 120	 2000
3000

Equipped with accessories

Length	 2.000 / 3.000 mm
Packing	 unpacked on pallet
Colour M

HEAVY LOAD /
FOR FORKLIFTS

Black
Red

14
0

120

120

12
0

12
0

14
0

14
0

RESISTANT TO
LOW TEMPERATURES

-30°

500 - 1000
1500

2000 - 3000

Cold Line



BARRIERA SINGOLA
SINGLE-RAIL BARRIER

ROD FLOOR 120

04. COLD LINE

RESISTANT TO
LOW TEMPERATURES

-30°

WASHER PE M20

WASHER M20

NUT M20

GRC 150

GRS 150

THREADED ROD M20

 500 

 600 



BARRIERA SINGOLA
SINGLE-RAIL BARRIER

ROD FLOOR 120

04. COLD LINE

RESISTANT TO
LOW TEMPERATURES

-30°

WASHER PE M20

WASHER M20

NUT M20

GRC 150

GRS 150

THREADED ROD M20

 500 

 600 



RESISTANT TO
LOW TEMPERATURES

-30°

04. COLD LINE

ROD FLOOR 120
ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

1

2

3

4

Ø24 mm

150 mm

MIN 100mm*

WALL

The distance of installation depends 
on speed and weight of vehicle

WARNING

pag.1

23

56

GUARD RAIL - ROD 70INSTALLATION

4

2/3

87
m
l

ONLY WITH RESIN

MIN 100mm*

WALL

pag.1

Ø24mm
150mm

100mm

1 2 3

4 5 6

GUARD RAIL - GUARD RAIL 150 INSTALLATION

Ø24mm

30

CHEMICAL
ANCHOR

2/3

35
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

Ø24 mm

30

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

CHEMICAL
ANCHOR



04. COLD LINE

RESISTANT TO
LOW TEMPERATURES

-30°ROD FLOOR 120

ONLY WITH RESIN

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

5 8

6 9

7 10

T=120Nm

100 mm

Hydewa® Suisse Romande
Le Coutset 18
CH-1485 Nuvilly
www.hydewa.ch


	MPM_commerciale_ROD_FLOOR_120
	MPM_tecnico_ROD_FLOOR_120
	Istruzioni_montaggio_RODFLOOR120



